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MACHINE
Generic
SEES
GenericCtx
VARIABLES ¢, x_p, x_s
INVARIANTS
invl: t € RRealPlus
inv2: x_p € RReal » S
inv3: Closed2Closed(Rzero,t) C dom(x_p)
invd: x_se€ STATES
EVENTS
INITIALISATION
THEN
actl: t:= Rzero
act2: x_p:€ {Rzero} > S
act3: x_s :€ STATES
END
Transition
ANY s
WHERE
grdl: s € PI(STATES)
THEN
actl: x_s :€s
END
Sense
ANY s, p
WHERE
grdl: s € PI(STATES)
grd2: p e P(STATES X RReal X S)
grd3: (x_s—>t+— x_p(t) Ep
THEN
actl: x_s:€s
END
Behave
ANY e, Inv, tp
WHERE
grdl: ee€ DE(S)
grd2: Solvable(Closed2Closed(t,tp),e)
grd3: InvCS
grd4: x_p(t) € Inv
grd5: tp € RRealPlus
grd6: t—tpelt
grd7: CBAPsolutionOfFIS(t,tp,x_p,e, Inv)
THEN
actl :
t,x_p:|
x_p' € RReal » S At =1tpA
Closed2Closed(Rzero,t") C dom(x_p")A
CBAPsolutionOf(t,t',x_p,x_p',e, Inv)
END
Actuate
ANY e, s, Inv, tp
WHERE
grdl: ee€ DE(S)
grd2: Solvable(Closed2Closed(t,tp),e)
grd3: s CSTATES
grdd: x_se€s
grd5: InvCS
grd6: x_p(t) € Inv
grd7: tp € RReal Plus
grd8: t—>tpelt
grd9: CBAPsolutionOf FIS(t,tp,x_p,e, Inv)
THEN
actl :
t,x_p |
x_p' € RReal » S At =1tpA
Closed2Closed(Rzero,t') C dom(x_p')A
CBAPsolutionOf (1,1, x_p,x_p', e, Inv)

END
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